THE OPEN UNIVERSITY OF SRI LANKA -
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
FINAL EXAMINATION 2014 )

MCU 3204 - PROJECT APPRAISAL

Duration: Three (03) hours

Date: 06.07.2014 . Time: 1.30 pm — 4.30 pm

Instructions:

Answer Question No.l and any three from others.
Use of a non programmable calculator is allowed.
Hand writing should be legible.

Roberu Plc. plans to commence a new project for which special type of machinery is needed.
Three different machines with different cash flows have been evaluated in relation to this

machinery. Each proposed machinery would be fully used for the project but only one of the
proposals can be accepted.

Estimated annual cash flows under different machines are given below.

Cash flows Machine 1 [Machine 2 [Machine 3
(Rs’000s) :
Year 0 -1200 -950 -800
Year 1 -20 -110 -190
Year 2 -30 -140 -110
Year 3 -40 -90 -150
Year 4 -40 -60 -130 -
Year 5 -40 -50 -20
Residual value 20 5 0

The cash flows for Year S include, where applicable, the sale of the fixed assets purchased
(Year 0) at residual value. The company’s cost of capital is 15%.

You are required to:

(i) Calculate net present value (NPV) for each machine. Suggest which machine should be
selected by the company and explain, {with the relevant calculations) why that machine
should be selected. (10 marks)

(i) Suppose the following are the net cash inflows for the above project irrespective of the
selected machine type. '

(Rs’000)
Year 1 Year 2 Year 3 Year 4 Year 5
350 450 500 400 350

Evaluate the new project with the following calculations and comment on the results.

(a) Pay Back Period (PBP) (05 marks)
(b) Net Present Value (NPV) of the project (06 marks)




(c) Internal Rate of Return (IRR) (07 marks)

(d) Net Benefit Investment Ratio (NBIR) (06 marks)

(e) State the limitations to your decision and other factors to be considered before the -
decision of the new project is finalized. (06 marks) (Total 40 marks)

(1) Develop your own definition of a project highlighting at least six characteristics of

projects. (15 marks)
(iii) Explain why projects are different with each other. (05 marks)

(i) At the outset number of alternative project ideas might have been identified. But all these
project ideas do not warrant implementation. Explain with suitable examples the reasons
for eliminating the project ideas in general. (15 marks)

(ii) Explain briefly what is meant by pre-feasibility study. (05 marks)

State whether you agree or disagree with the following statements. Explain the reasons for your
answers.

(i) “Changes in working capital as a result of implementing a project should be included in
the project appraisal.”

(i) “The effect of a new project on other parts of a business is irrelevant when trying to decide
whether to go ahead with the new project.”

(iii) “IRR is not an appropriate tool for evaluating mutually exclusive projects.”

(iv) “Non-discounted project analysis tools are crude measures.” (5x4=20 marks)

(i) “Irrespective of whether we deal with a commercial or social project, analysis of
demographic environment is important in project planning.” Explain this statement with
suitable examples where necessary. (15 marks)

(ii) Explain briefly the importance of evaluating economic environment in project appraisal.

(05 marks)
Write short notes on following.
(i) Importance of institutional analysis
(i) Three main aspects of technical analysis
(iii) Single period budget constraint of a project
(iv) Aspects of financial analysis (5x4=20 marks)

-Copyright reserved-
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